Bellwork  Alg 2B Thursday, January 18, 2018
1. Find the sum of the terms in this series:  -56,-62,—68,-74,...,-248

2. Use the given information to find the sum of this arithmetic series.
a7 =17 aip =49 Last Term: a, = 241

3. Use the given information to find the number of terms in the arithmetic series.
a) =34 Last term: a, = 184 S» = 5559

4. Use the given information to find the common difference of this arithmetic series.
ar =33 Last term: a, = 257 S, = 2465
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2. Use the given information to find the sum of this arithmetic series.
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3. Use the given information to find the number of terms in the arithmetic series.
a; =34 Last term: a, = 184 Snp = 5559

4. Use the given information to find the common difference of this arithmetic series.
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